=
<
-

g 5
= 8
s
2101
% 5 10
107E
[ 1072 :
]
107 10
o : o B :
IS r : IS :
o [ . o .
ant t i 4 :
054y gy ..'+# 0.5 : Y
F 'Y ..Oo'.:.'.o.°.' - ® o.'q. o %t it | 5 ° s N K o 1
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mkFit_TTbhase
—e— DQM_mkFit_TTtest125xNEW
~ 1= —
= : IS
2 e
2 -
> S
5 S
10
1075 1075
01073 o107 3
3 IS E d
o o [ H
05 . :
0.5H :
C : : ; L ‘1 : : : :
93 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ g
o i
—
o
o
<]
107"
107%H
o < = —
g
0.8H
0.6 ¢ : : : CTertt B
-3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


